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Ch 12 - “The River Probiem

Suppose we wanted to estimate the yield of our coen field. The field is square and divided into 16 equaliy sm:ed 3
plots (4 rows X 4 mlumns) A river runs along the eastern edge of the f‘te[d We want to take a sample: of 4 ph}ts*
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It’s time for the harvest! The numbers below are the yield for each of the
16 plots. For each of your three samples above, calculate the average yield. | 4 | 29 | 94
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Ch13
Backhoes & Forklifts .
S A heavy eqmpmenﬁ manufacm mircéﬂmes new models of their backhoes and forklifts, anci sai}s
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Chapter 11,12 Practice Quiz (for Chi3, use‘tke ‘Backhoes & Forklifts’ problem to review)
Apmm.s Quiz B - Chapter 11 . Name :

On January 1 of every year, many peop!e watch ﬁ:le Rase Pamde on television. The week beﬁ}re o

the parade is very busy for float builders and decorators. Rcses, camations, and other flowers are -_;

pumhaseﬁﬁomm;mdthﬁmﬂdmdecmtatheﬁmmsedmmmm one float

 decorator found that 10% of the bundles of roses delivered will not open in time for the parade,

" 20% of the bundles of roses delivered will have bugs on themt and be untisable, 60% of the bundles
of roses will turn out to be beautiful, and the rest of the bundles of roses delivered will bloom too " -

~ early and start to discolor before January 1. Conduct a simulation fo estimate how many roses the

- _ﬂﬁat decaratar mll :ﬂeed to pfurchase te have 1 goa& btmdles of mses ts place on the float.
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Statisties Quiz A ~ Chapter 12 Name_

1 A statxsﬁcs tcaz:hﬂr wants to ]maw h&w har studants feel about an introductory statistics course.
*She decides to administer a survey to a random sample of students takmg the course. She has

S scveral samplmg plans 10 choose ﬁ'am Name the samphng stratcgy in each T

. There dre four ranks of student takmg the class: freshmen,
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